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9:;<�  

'�(� )�� *(+ , �! -�� .����/0� �1����2�� ����� �3 -4��5 #$��6 7��� �� , )�819  �8���  .8�����  #9 :"  ��+3��(��<8��

 ����� �3 -4��5 ���=$��= >��	� .	��� : ��?�$� ��+$��= " �3 (��� : -�� �(� )�:(� @$8AB    : .8C��� D8	��$<��$�

��� �$��= -4��5 �$E	� �� >F	��<?+ �����+� G�<	! �  �3 H��� �� ��$��= ��+�I����?  �<8?+ �� ,   /8!��� .8B��

 $��= �� ��! ��J�-�2K: �3 : �<?+ �� .L�M$0$�3�� N��M�:� ��+ �<?+ �� OF6 �! .PQ�	� �3 /�� : ��     �8� ���$8��= ��8+

 .�R$Q ��%) �� �<T��UV G�� (�(� �3$09 (�� ,(�$� ����.  

W :�
�  ����� �  

���/0� �3 '�(� )�� ��I����? �<?+  ����X:��� ��E�   �<8?+ ��8+    >8�<J� : .8T+:Y= ��8+�$<!9� Z��    Z.8����� ��8+

�I����? (�0$� ,�:9�[� ,.	\ ���� ,-B�� ,�:9�[���� �<?+ 3�$� ��F�� :  : Z���I����?  -���(�(���?=   ��$8��= ��+ :

 ��]!�I����?  �$��=:��3$�3�� (�0$� ��E� , /8!���  .��8P�P�� , .8��$�9 ,   -�28K: �3 /8�� : .<2	8� :    N8��M�:� ��8+

�<?+ �<?+ �� OF6 �! .PQ�	� : .L�M$0$�3�� �� ��  .�R$Q ��% �� ���$��= ��+) �� �<T��UV G�� (�(� �3$09   (8��   8��6

-�� ���� .-�0�2[ �3�% 3�!��! H���� �3 (��� ����/0� )��  #(�^�� #��� �3 : _$[ ��+�I����? �<?+ ���� �� 33�X.

  

? :@�����  

Z:=����]�  ���<^ :  

P����(  ��  D	+9  -E]\ �� �3  .���$��=   �X� �! -�����X$��= H���� �3   �8� (<��  ���X$8��=   N8��M�:�  #9 ��  

 �:�J�3$� ,����(6�  ���^ .<4��5 �� ���   `�J�� (���  3��a=.  

Z:W �����]�CP�<
 :  

���(P�   ��6 �3 ��  ���
T�=  -��  �!   �3 �X�>6�$�  ���X$��=  N��M�:�   #9 �� (8<�� ��    3$8� �:�8J� ,  �8� ��8��  

����(6�  ���^   �� ��� .<4��5  3��3.   

Z:Z�S �7]:

�<��$B�� 3$�:  #:�3 ��$��= 3�$�  �:� ��  b�  �3��  #(� ��  #�?��  ����+ ��  �! �
�3  .� (��$�   #��� (��� �:9.  

Z:_`��
�(� -���� �  �S �
] :

`�J�� -�]��6       .8	��� : .<�O8� c8�5 ���8� N8��M�:� -�26$� b� �� .��� ���d� e+�! -f� �dg� ����(6�

#�?�� ,.X(�� -���! ,H��� : G�$��  -?��.

Z:a���<^  0��b  ��� :

.���]�%  �!  ��$��3  e��/[�  ���<�9 ��  `�(6�  ,-f�  e+�!  �3  ̀ �8J��   .8�  3�8�X . H���8� �3  �8]B�(� ,  ��8�  

���X$��=  �� (<��.� / (���.   

?:H�"�#$ ��<^��:

�� �]B�(� ��X$]� �$E	�� ��X$��= H���� �3 `3�� �3 e+�h �� :� .� N��M�:� �� : (<�� (���.  
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Z:c���<^  d��F�
 :

 �! -�� �]B�(� �� .]L���  i! �$E	�  #3�!  ��+(���=  b�  �����    .8� `�8J��   .8� : 33�8X   �8� (8��$�   ��$8�

�� ��� ���^ �� : .<4��5 ����(6�(� .  

Z:e`��
�(�:

.�9 `�(6� b� `/]<?� �! �3�%��\ 3�(�:� �� -�2K: b� ,#��� j��<� �� : �CB e+�! -f�  -�O� ���� �:9

#�?�� .	��� : ,.X(�� -���! ,(��� -?�� H��� �� : G�$�� .�: )��N��M�:� H����  ��� �M  �<8?+ ��+  : ��

N��M�:� : .L�M$0$�3�� e�9  �F6 �� *��2<� ��+ ��$� �+ , '�8��CB .������ 3�$� ��T<�� ,   �80/0��� : #�8[$Q

.� 3$� .-�26$�  ��� N��M�:� #9 ���� �! -�� .��+      �(+�8T� ���Q�8k� ���8d� e+�8! -f� .�9 `�(6� �+

-�� G$P2� �(�.   

Z:f `��
�(����� �g�
�7�� �� �� 	� :

�3 3$�: ���  �R3 �� #9 G��<5� �� : ��Q�k� #9 �3 �! N��M�:� H���� b�3�:   

l0�m ���J�� e	!�: b� ��  ��5 �M��� �<?+ �� ���J�� e	!�: b� �R$A�� .��=�: �� ��  ,��  

nm ���X$��=.

Z:=30�8� �� �� :

 .8� �$J� ����3 �� : �$J� .K�P<� �! .6$P5 �� : .P�P5 ok� �+  : (8���/    �<8?+ .8	��� G$q8?� �8� �� ,

�$��= ,(���?= 2[ `�J�� `�
	+ �3  P� :  �5 �� ��$��=-�0� �I� ��$X �+ �� �C��� �3 �� �+��<?+ ��?   �8� : ��

   -8�� ��88?�$� �$8��= >��8	� .   .8P�P5 @�k8��  ��88� ��3�8� ��88f� ,�88%$�J�  .88<0:3 ��8+ ,  �88� #�X(	<8��[

 �5 R�! #�X(		! ,���:�= #�X(���3 ,#�<������ �+ ,ek� .� ���\ : .0�r<�� 3$B ��+ (��� .  

Z:==���(�/ V�h��� : 

  -�� .��� (	� b� H�$� �!".�$��6 (5�: "�2�� ����� �3 -4��5 #$��6 `:3  A[ ����(	� 7��� �� , �3

 �3�� 3��� �� �C���)� (    �+3��(��<8�� : �8��� )�8�9 )8�� : #$��6 ����P� ��]! -��%� ��$� �3 : #9 ,  : H��$8K

 �20��$<�3 �� �! �3��$� �� ��\ �2�� ����� �3 -4��5 ��+ ��6 (5�: ��+3��(��<�� s�$�   �(8� .	t<8?� .�$

-�� ,.� �3�� .�$��6 (5�: H��$K 7��� �� okT� �(� ���� 33�X.  

Z:=W<��
 	�*S���/ :

(<�� ���X$��= �� �$E	� '�(� )�� �3 ,3�(B� �� �(��� �� �� ���$��= ����P� �� ���X$��=   (8	��� �<�aX ��+

 �$��= u3�$5 �� .��� �$��= .X3$09)-�2K: ��M�:� �� (2� ���X$��= ��+N (-�0�2[ `�J�� �� :    �$8��= ��8+

�3$F� .�$��6 G�<	! -�� �! .2��	� �� �3��<�� : �<�aX �3 (�� ,) �� �<?+ �� �(� �3$09 ��+    ���$8��= ��8+

.�R$Q ��% ���� �� .2�FQ (.� (���.  

Z:=Z�J�*���� E�� 	�: 

��X:��� �<?+ ��+ >�<J� : .T+:Y= ��+�$<!�� ,��   ,(8�0$� ��?���� ,.����� ��+   : ��:9�[��8� ,-B�8�

�<?+ 3�$� ��F��   -���(8� ��?���� ,�� (���8?=        : ���3��8F�� ,-8�Ft� ,e��8�9 ��8?���� (8	���+ ��$8��=

)[3 : �/���:3. 

Z:=_�J�* L%  E��<����/ M)� N� �� 	 �����/:

�I���� �! .��?  )[3 �$E	�(���?=     �� �8<�! v8�% �8� )��� wC� �3 #9 -[����� (A6 #:(� ��$��=�xx 

�<� .� 3�J�� 3$�.  
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Z:=ab�P�  !P��  ���� 	� : 

��]!  ���]�%  �� y$���  �M��� (�0$�  �<?+ ��   ���  #(2� ���!  ,n���9  #3�!  ,�����[  .	\ :  ���8�   i�8���:�   :

i��$�  ,  -B$8� (8�0$�   �<8?+ ��  , �8�  ���(8����!   ��8+�$<!��   �<8?+ ��  , �:9�[��8��   -B$8�   �<8?+ ��  ,�3� ��  

z��B ����  ,-�0�2[ �+ :  �� y$���  ���(���?=  ��$X�+ �� :  -�0�2[  �	��� �3  e+:Y=  �2�$� ��  b��+   3��$� ��

_$[ .  

Z:=i$�  <:

��(P��3�dg����3G3�2�3��[�.�����-�0�2[�$��=G�<	!�(�-�� (��F� �!��#9 �:�J� 3$�.

Z:=cV�h��� ���(�/ 0<��� :

 �� ���:�= �! -�� ok� b� ��".�$��6 (5�: "     -8f� �28�� �8���� �3 -84��5 #$��6 `:3  A[ 3��� 7��� ��

3��3 .� -[���3 #9 �3 z�(	� `�R ����(6� .

Z:=e �:

����2�  ����  #���  -[���3  na� ��  $��= �!  s?5��  3�$� ,-��! H�$�  �8+.�   �8�E�  .�a8� �3  , $8{% �3 , �3

G3�2�  ,�dg� �3 ,G3�2� �3  ���F��  � �3 �����F�� �dg  �� .� ��! 3:� .s]\� �3  3��$� ,����F%   �L�   �8� y$���  

��$� �3 �3  ��:�K��\  #3$�  *a5  .� (�3�X.  

Z:=f�)*+
 ��*
� � :

 �3 D	+9 �� : �3)�3 D	+9 �� �3 �� y$��� �(� �(+�T� -��! b� �� (   >8F	� /8� �� >��	� .���� �� y$���

�E� 3�$� .

Z:W3 0<�  (<+
 �  :

 -�3:(��   �3 �R�8� (85 #�$	% �� �! >F	� b� �� .��� �3�[ �3 �	��� �3 ��
� �(	�9 �� ����+ �(� G��%�

.� �<[�X �E� �3 >F	� .	��� : -4��5 ���� �	�f� -f� 3$�. 

Z:W=	������ :

�� : ������ vFQ -?�� H��� �� ��$��= 3�$� #3�! �+�  �(� G�<	! ��$�)>��� �� ��X  L� �� R$�2� .(

Z:WW�+���:

+(�%��\ _���� �� ��?�� ��F<�� �d� �3. ,	[ oP�. �+3�(�:� ���� �� ��/�fJ� ,�� �$Q�    G�8�<5� �8� (���= �h

#9 (���= �+ ,	��� : -4��5 �E� �CP� ��. �$= iT^  ��6. (��F�.

Z:WZV�B�
 j\�:

 ����� �! -�� .P�P5 ok��Q$��� ���� )��9  .8�]% -�5O� (��:      �(8A� ���8� `�R H���8� : .8	[ :  :

��]! �� ���E�  (��� �Q$��� ���:�= �3:(�� �3 �2�� �� ��! �� y$��� �$��.

Z:W_	���/ !*7��%:

��$X�+  -�0�2[  ��T�  �!  �� �J	�  e��/[�  >��	� �� ��+��?�  ���X$��=   3��8[� 3�(2� ��  �(8�3$��=   3$8� ,   �8� �8�

��+��?� ���r�   >��	� �� ���X$��=3$�$� ,|%��  e��/[�  ��X$��=�  G��<5� ��  ���X$��=  3�(2� �� : 3��[�  3��[�

�(�3 $��=  33�X.  

Z:WajP��  �%:

)��  3�[ .AB��  �3��[� ��  -��  �!  )��<T��   �� �3 -�2�� )�� �3-[���3  .� (		!.

Z:Wi����^ :

 �� '�(� )�� �3 �2�� ����� �3 -4��5 #$��6.� _OQ� 33�X.  
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Z:Wc�CP�<
  :

 �+.��(6�  �!  ����  e+�!  ���
T�= ��  }$6: ��  G��<5� ��  ���X$��=  .2��	� ��  �!      G�8<	! �$8��= -8�0�2[ �3

 �(�(	��F� ,}$6: �d� �3 ��  �����   ��6 ��\  G�<	!  (	��� ,`�J��  3��a=.  

Z:WeV<
:

��?�: .P�P5 i<?�� b� �3(% #��� �� : .]�]�� �1��� b� �(�(= �! .��+ .� ~� i<?�� #:�3 �3 �+   (8	+3

��� :e�= �  )�2� H���� -�� .P�P5 i<?�� ��<[� .������ �� : .	��).K�[ �F0�\ (.� �3��<�� 3$�.   

Z:Wf
� � :

�� .]! �$Q  ��  �3��[�  _OQ�  .� �! 33�X  7�����  "     �8���� �3 -84��5 �8��= ��+3��(��<8��   : ��8?�$� ��8+$��=

$��= >��	� .	��� "��2� �3  ���X$��=  .]r�  .L�/= ��  (	��F�. �� �?��P� �$E	�  ���X$��=   ̀ 3�8�     �3 (85 �8�

��R��  ,b�  ��� #�$	% �� oB�� 3�[  )��2�  .� 33�X.

Z:Z3����+� �*�
:

oB�� 3�[ �� y$��� �3 )���R�� ���� ���X$��= ��?�.   

Z:Z=
	���*�  	�*S���/ :

.��+��?�  �!  #9 v��Q �� �<?+ �� : $��= �+ .� ��$��= ��+  ���X$��= sF� (	��$�(�$� #�?�� .  

Z:ZW!��<8� k��*% V�B�
:

 ����� �! -�� .P�P5 ok��Q$��� ���� )��9     .8�]% -�5O8� (8��:      �(8A� ���8� `�R H���8� : .8	[ :

?�(��� �Q$��� ���:�= �3:(�� �3 �2�� ����� �3 -4��5 -�0$q.  

Z:ZZ&'�
 E�l\�
 :

=$�:/�� s�h�� : #�/��.  �(��+� 3�$�)�(��+� �� ��[ �� (�I� ��� ��8?  -8�� .   ��8?0(� �3 �OC8�� )8��� 

����+�� �<?+ �+� H��� �� ��$��= ,�� �I� �3 w��$� `�
	+ �Y�:��<?+ ��? ��  ��8��+� �� :�  (���8?=  �8+� 

��(f
� /h��� �3 ��$��=� � �3��<��. 33�X .  

Z:Z_&'�
:

��?�$� ��+$��= ��T<��  ��% �+ ,     = |8%�� (8��$<� �8! ��$8��= ���� �:�85 3�$� �� ��$��= 3�$�  3$8� ���X$8�� .

�� .� (�0$� #3�� ��X �! �3�$� G�t� #�$	% (	<?+ .C��� >F	� (		! ,�I�����X .+3$��= ��? , ���� .2F	�

-�� .��a\ 3�$� ���(f
� -f� �$��= -�0�2[ , .8� ��� NL�� ��
<�3   .82F	� (8��$�     .�$8��= -8�0�2[ ���8�

M$0$�3��� �<?+ ��X:��� : (��� .A�kT� �� ,�2[ ���� .2F	��<?+ �M��� �� _�� (�0$� .�$��= -�0  -8�� �� .

�I� �%$�J� )�	��+� �� b� �3 l]<k� ��? ,`:/0 ��$� �3 ,3$� .� .P]� >F	� b�.  

Z:Za0<���� 	�����/  ��
:

�� �! �$��= -�0�2[ �3 3$�$� >��	� �� .��� ���$��= 3�$� ��X ��$� ,  8��19  �8+ ,     �8� : ��(8��� �8� ��82���

��= : ���� v�6� �$E	�.� ��� -?�� H��� �� .X(	! (	���.  

Z:Zi,�����*��
:

���(�� �� .X3$09 �� �3 #�/�� ���X #9 j��<� ��?�� : ��$��=3�$� �� �+$��= �� ���X$��= G�<	! �� .������ �$E	�.  

Z:Zc�m(�P En�*� ,�����*��
 :

3$� �2���� >F	� D	��$<��$� ��.  
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Z:Ze�)*+
 ,�����*��
:

���(��  .���B �3 D	+9 ���X�<?+ -E]\ �� : H��� �3 3$�$� >��	� �� .��� .C��� ��/�� �3 ��$��= ��+. 

Z:Zf&'�
 ,�����*��
:

���(��      �� .8��� .���8B �3 D8	+9 ��8�X ���(�� �� : H��� �� �(� �+� ���$��= 3�$� �� .��� .���$��= ���X

�I� b� �3 3$�$� >��	���$��= -�0�2[ �� : ��?.

Z:_3�����^ <$�(:

 #$��6 7����� ����8P� ����� )?5 �� ���E� �� l4$� .�$��6 (5�: �2�� ����� �3 -4��5 , )�8�9  �8���   : �8+

.� �Q$��� ��+3��(��<�� (��� .-�0$q?� )��    #��8�� .8��� �M�8�� #����� *�Q �� �+ ,     .8	��� `�8E� /8!�� �8�

�<?+ -�� �(� ��$�� .�$��6 (5�: #�$	% �� �$T! �� .  

Z:_=���� � ��G ��*� �� �����/ 	��0���:

�<?+  �t!�(5 �f�9 ��% ���� �! .���$��= ��+�xx (��� �:�.

A :!*7�B�
  C2��  

-�0�2[ G�r<�� ���:�= #�X(���3 �(f% �� H��$K )�� ����� -�0$q?�  (	� �3 �(� �!� ��+" .� (���.  

  

a : E���F

��G�   

D:9   V��� �� o��P   

-�0�2[ #9 G�<	! �! .2��	� : �$��= ��+ /0� �� ����� �+ )�:(� ����  �3 �(�"3��(��<��    �3 -84��5 �8��= ��+

>��	� .	��� : ��?�$� ��+$��= ����� "#�L�� (��F� ��a= ,     �� #9 .8��=�: �R$8A�� : #3�� ��8X ���8��+� ��E�

#��<B�� ��$f� i<?�� .�� '�(� )�� ����/0� G$�T� �+ (�3�X .  

a:W   ��p��
  ���
  

�m" m�-�0�2[ ��C� �! .2��	� : �$��= ��+ �3�� v�m�m� "     : ��8?�$� ��8+$��= �8���� �3 -84��5 ���= ��+3��(��<��

>��	� .	��� ".� .	t<?� .�$��6 G�<	! �� (�$� ,.� *�2� /�� >F	� : .C��� D	��$<��$� `�J�� �� (�3�X .

�m" m"#�<������ �<?+ �� �! .<2	� : .��P�P�� /!��� : �+ ���� �� ��$��= ��+ .� �3��<�� ���$! ��% 	����( , `�J�� ��

.� *�2� >F	� : .C��� D	��$<��$� (	���.

�m" m��<?+ .L�/= /!��� �<?+ �� �! �� .� �3��<�� .A�kT� *�(+� �� ��$��= ��+  (8	���� ,   D8	��$<��$� `�8J�� ��

.� *�2� .C��� G�<	! ��� Z(	���  ��++�X �X. �<?+  33�8X `�J�� (��� H��� �3 ��$��= ��+ .   /8!��� )8�� �3

 D	��$<��$�-�� .��/0� >F	� `:�(�.  

�m" m�.� �3��<�� �<?� >��	� �� �! .<2	� /!��� (	���� ,.� *�2� >F	� : .C��� D	��$<��$� `�J�� �� (	���.

a:Z   ���(�/ 0<���  @��"(  

(���3�  ���:�=  l4$� -��:

�m� m�.���� .���� ��f� ��  F6 ���� 3�$� ��+ ��3�� ��f� ��  F6 D	��$<��$� �]���� ���3���  ��(+3 `�J��.

�m� m"������  D	��$<��$�  ek� �3 �(� �1��� ����/0�  6�(5 �� s��	<�   ��8+�  :�    '�(8� )8��   -8f� ��   G$8A5  

#�	��Q�  -��%� ��  ����P�  )��  '�(� :  �20��$<�3 ��+  .�$��6 (5�:  �����+� �� y�F��� �3  ��$��= 3�$�  ��f�  

 :.�$��6 (5�: H�$� (���� �� N= ���� ����( ��  ��$Q  �!  H���� �:���  ����  )��2�   (85  ���8��+�   �8F<2�

�F���� : (����  ���X$��=  oB�� 3�[   :.������  ���X$��=  #�L�� `3�� (��� ��a=.  
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�m� m��� ���� 3�$� ��/�fJ� ������ `�J�� �$E	�  �(��+� ���$��= 3�$� ���� >F	� : .C��� D	��$<��$� s��	� ��+

��f� )�5 �3 ���3��  �3�% H���� �3 -�� )L�� �! #9 �� (2� :)3�(B� `��{�� ��  G$8F6  ��6 .���]�% ��+ (

������ )�� `�J�� �� : (���� ��f� �� (<[��� _���� �� o�kT� #�L�� �+ �����+� >6$�      i+��8[ �� ��8E<	���\ ��8+

(	! .�� ��%OQ� )�	��+ ������ �� �(�9 -�3  �� >F	� : .C��� D	��$<��$� ��+  )���8= �(8	+3 #�T� �!   �8�

-�� �(�3:(�� �3 (5 �� `3�� .<[���3 �3 #3$� ,(���� �1��� ��. 

�m� m�(��� �(� �/�� ������ : (	��:� ����(6�  ��� �! .<���! )��{� ������ ,�� (���� �1���   #�8	��Q� �! ��$Q

�/�� �! 33�X  ��5�  ������ >F	� : .C��� D	��$<��$�.� ���� ekF<��K� : )��� �$Q �� 33�X ,  v��8C�

: -�� .�$��6 (5�: H�$� �(� (��I� ��+3��(��<�� �� -���! G�<	! .����� �:�  ��� ,    �8� @�8B (8�!I� ��

.� �2�� ����� �3 -4��5 ���� �	�f� (���.

�m� m� ���8��+� >6$� �� o�kT� #�L�� �!a0� _$[ ��+ ������ `�J�� ��    +��8[ �� ��8E<	���\ ��8+ (8	! i .  )�8	��+

)���= �(	+3 #�T� �! �� >F	� : .C��� D	��$<��$� ��+ ������ �� �(�9 -�(� ��%OQ�   .<[�8��3 �3 #3$� ��

-�� �(� 3:(�� �3 (5 �� `3�� ,(���� �1��� �� .

�m� m������+� ��]! #�L�� (5 �� �� ��$��= 3�$� ��+ ,�����+� 3:(5 �� �<�! 3��3 ��
� �+.  

�m� m��<?+ �����+� = ��+  ���8��+� 3:(85 �� -P��C� �(	+3 #�T� �! .[�! ���1/� : -63 �� �� ��$��   .8�  (8��� ,

�� (���� �$<��$� 33�X i+��[ oB�� 3�[ ���X$��= 3�:9�� #�L�� �! ��$Q.  

�m� m���     ��8���J� 7�8�� �8� �� ��$��= 3�$� �����+� �� y$��� .0�<	! ����(6� .�$��6 (5�: v[�$� �� : .{<P� �$Q

���� .���]�%�� (	����  �(2� : .	� ��$Q .� �! oB�� 3�[ : ���X$��= ��+��?� �3 ���r� ��$X�+ �!   (8��$�

3��X �E� �3 �� (��� �d$� �����+� �� .��� �3 .������ ��.

�m� m���$��= 3�$� �����+� G�<	! �� y�F��� �3 ,  �/8���:3 �� .��� G$F6  ��6��\ �$��= �� .X3$09 b?�� ��$X�+ ��

�� ��$��= 3�$� (���� ���X$]� `3��  '�(� �3 �(� �!� 3����!  ��6 .�$��6 ����/0� ���� :"   ���8��+� H��$8K

 H��� �� ��$��= 3�$� "(���� ���� ��) .����  l�3� �� �<T�� ��%OQ�� 33�X }$�� HF��� ��(	<?�.(

�m� m�x��$X�+  e��/[�   �8	��� �3   .8C���   �8�   e��/8[� ���8��+�   3�$8�  ��$8��= ��  3:(85  ��8��+�   >��8	� �� .8��� �

-�� ���/X ��+���2� �� v��C� �� 3$B -�0$q?� .�$��6 (5�: H�$� �(� )��2� .+3 ,2����� ��   .�$��86 (5�: 

 `O%�  (	����.  

�m� m��-�0�2[  �� ���� .�$��6(5�: ����/0� v��C� �! .��+ .C��� D	��$<��$�   3$8B �$8��= -�0�2[ -f� (��� ,(���3

�<?+ .	��� `�E� /!�� �� ! ��(	��� �$J� �� ���:�= ����3 �$T .     D8	��$<��$� `�8J�� -�0$q8?� �8��:�= �(���3

��f� ��  F6  ���  5��� .���� �3 �� .C��� ���3�� ,��f� )�5 �3 ���3�� ,   ��8f� `�8��� �� N8=   �3 : ���3�8�

3��3 �(f%�� �� N��M�:� -0�5.

�m� m�" �� 3$B -�0$q?� -�� @�B -�0�2[ b� �� y$��� >F	� D	��$<��$�  ��8f�  ��8�  5��� .���� �3  ���3�8� ,

��f� `���� �� N= (+3 `�J�� N��M�:� -0�5 �3 : ���3�� .

�m� m�������+� .L�M$0$�3�� ��d�� ��0:� .������ �� y$��� ���K�[ �� �� �+ ��:3 ��$� (���� G�<	! �� .

�m� m��j��<�  D	��$<��$�  ���X$��= : �(�3�:9�� ��+ -Fd ��  ���(f
� :  (	����.

�m� m����OB  j��<�  D	��$<��$�   ��$[ �3 ��  .����  okT�  (���� 3�$� : , ��.�$��6 (5�:  G����  (���3.  )   �8� }$8��

 ek�� (  
�m� m�������� �� �/��  i<?�� 3�J�� : ��+  D	��$<��$�  N��M�:�  ,��$X�+  e��/[�  .��fX��  .C��� �	��� �3  ��  .X3$809  

.���  ����� ��  �d3�5 ��  �F6�<���\   g8�  >8F	� �8� �d  ��  ok8T�   (8	���� , : -�8�   ��8K:���   .��8����   �8�0:�  

��+(���=  .L�M$0$�3��  �����+�  .���� �� ��$��= 3�$�  (	����.  
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i:0I�( &'�
 ( �)*+
 ,�����*��
 E�
��7� �J�*E�� ���� 	�  

i:=��X:��� .5��Q �]5�� �3 �<?+ ��+  ���� : ���I����? �<?+ ������ �� �/�� ��(6� : �+�� .��    .��8���� �$8E	�

.0��<5� .L�M$0$�3�� ���d� ,3$�: ��$� �3 , ��:�J� �3�I�� ��?�<?+ ��   `�8J�� ��� 3��$� �� �Y�: ��$� ��

33�X:  

l0�(Z.��a\ ���J��  ��� `3�� ���X$��= ��+��?�

 n(  .L�M$0$�3�� ���d� ,3$�: ��$� �3 ,i<?��$!� �� Z.]�� ��+

 z(   ��$��= 3�$� .
<��F�� #�L��: .L�/�[ H��� �3

 3(  ��?� ��$X�+ 3$�: G��<5���J���\ �����+�.

i:W��f� �]5�� �3 �<?+ ��X:��� ���3��  ���� : ���I����? �<?+ 33�X -��%� (��� ��� .	��� ����/0� ��:

l0� (��f� ��3��  �20��$<�3 (���      ��8�� : �8�f� �� .8�:�B ���$8��= 3�$� �����+� G�<	! : D	��$<��$� ��+

���(� .�k?�  �20��$<�3 )�� �� �� 33�X �1��� .�$��6 (5�: �� (��� �+.

 n(  ��f� ��3��  ��:�J� �3 .C��� D	��$<��$� ������ b� (����I���<?+ ��?  ����     ���8d� .��8���� �$8E	�

(���� ���� : ��f� H��� �� ��$��= 3�$� .L�M$0$�3�� .���(��  ��� (��� ������ )��  .���B �3 D	+9 ���X

3   �$8+ (8	��� �8Q$��� i<?��$!� ��/�� �3 .���$��= -E]\ : H��� � ,n9 , '�8B , ���$8�� , #�8+��X ,

(��� .��a\ 3�$� : ����$�5.

H:? �(� �� �� >F	� : H��� D	��$<��$� j��<� v��$� (��� ���:�= #�X(���3�V    ��8� �h ��R�� �����/X : G��

��OB �� ����+� ��3�P� ���  : ��$��= 3�$� �(��3�+� ������. � �(�.  (8��� ,   �(8� �8��x   ��(8f
� G�8�� 

(	���� .�3 (��� v��$� `�[ ��+. ��(f
��    ��8�9 �8� : �3$8� 7�<�3�3 �h (�$�.    �$��86 (85�: H8�$�.    8��6

������. (	��� .  

  

cm  0I�( &'�
 ( �)*+
 ,�����*��
 E�
��7��J�*E��  L% <����/ M)� N� �� 	�����/  
c:=F6 (��� ���:�= .K�P<���f� ��   ���3�� , ��%OQ� �(	+3 �1��� �! �� .�$��6 (5�: G$F6 3�$� D	��$<��$� ������

 �� �3 �	��� .C��� �I����?  )[3(���?= -�� ��$��= ,(���� ���� .  �M$0:�(8�+  ��8� (��� ��%OQ� )�� ,

.��	��$+ ,�0/0� .��	� ,'�B .��� ,  <8?+ -8E]\ : #9 .X(	!��= : -�2�� ����9 ��%OQ��   ��$8��= ��8+

(��� .3��X `�J�� �0�� b� ��:3 b� �3  6�(5 : (��� .]A[ �����r� �(	+3 #�T� (��� ������ )��.  

c:W��f� `�
	+ �3 �(� �����+� ���$��= 3�$� s��	� .������ : D	��$<��$� �� #�	��Q� ����   ���3�8��I�� ��8? 

 )[3(���?= #9 -�0�2[ ����B �� N= : wC� b�3/� ���$��=  �+-�� .��/0� ��� ����P� -��%�:

l0� (  (��� .�C� )[3  �� .5��Q �� ��$X      .8���� ���8� D8	��$<��$� �8����� b� ����� #�L�� �! (��� ��

��f� )�5 �3 )[3 i<?�� -�[�4 #�/��   (8��� �<8��3 �� #9 #(� �<?� �� (2� `:/0 ��$��3 : ���3�� .

������ �/�� �+ ,<��$� .+(�����: ����(6� D	��$(	]� 3�L]�%�3 .]]B (��F�(���� 3��: )[3 i<?�� �(�.  

 n(       �8�f� �� #�8	��Q� G$8A5 G$q8?� �8��:�= .K�P<� ,       ���8� s8��	� D8	��$<��$� �8����� `:�(8� : ��8��

���(�� ��f� )�5 �3 �(��+� ���$��= 3�$� -E]\ ���X       `�R ����(86� (8��� : -8�� )8[3  8�� �� ���3��

: ����/0� -��%� �� #�	��Q� ����(+3 `�J�� �� .�$��6 (5� .���(�� )��  ���X �1��� (��� ��(+�T� : �+  �(	+3

�� `�R ��%OQ� (	��� .<�O� �� ����d�� : .C��� ����d�� .������ �$E	� ,�� ��$Q     ���8d� .��8���� �8!

#�L�� �� �(� .�R$Q (���� okT� �� ����d�� )�� �(	+�! ����(6� `�J�� ���� ���� : ��a=.

 z(     ���f      `�8
	+ �3 .8�9 ��(8T+ #O8%� .����$� �! �� .�$��6 (5�: G$F6 3�$� D	��$<��$� i<?�� (��� ��3��

�<?+ �����+�  )[3  �� �� ��$��= ��+(���?= (��� ���3 ,   �8� (8���� �P<8?� : .5��Q   ��$8Q    )8�� �8!
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 )[3  �� ��� �� 3�$� )�� z:�B ��  F6 i<?��(���?=     R ��+��(8T+ *��8Q� H�8�� �8�  #O8%� �� `�

(����. 

 3(    (��� .�$��6 (5�: (���� 3�$� �! �� .F��	� D	��$<��$� ������ (��� ���:�= .K�P<� ,   #(8� �<8?� �� (2�

�I����?  )[3(���?= (���� ���� .    G$8F6  8��6��\ .L�M$80$�3�� ���8d� 3$�: `(% (���� �$E	� �� ,  )8��

� �
�3 : .L�M$0$�3�� D	��$<��$�  ��� (��� ������D	��$<��$ (��� #9 *��Q� H��� : )[3  �� ��+ ,

(���� (���� �� .	��� .������ �3 �(� �<[�X �E� �3 ���K�[ #�L�� (5�� :.  

  

e:   �CP�<
 !*�.( �  &'�
 ( �)*+
 ,�����*��
 E�
��7�  

-�26$� ���� ���^ ����(6� : N��M�:� ��+  �����f� D	��$<��$� .]! �Y���<�� (��� 33�X .���<�� �Y�� (��� �$!a�   �$8Q

(��� �(� ��f� #�?�� ���X$��= .0��<5� ��+��?� : >��	� v�63 ��E5O� )<[�X �E� �3 �� :  �� #��+ ���� @�B.  

e:= `��
�(� 	�*S���/ !*�.( ���� �g�
�7�� �� �� 	� 

�m� m�$X�+ }$6: ��$� �3 H���� ���<?+ N��M�:�  .L�M$80$�3�� �� �� ,  	� : .8C��� D8	��$<��$�   H���8� �3 >8F

33�X ���� (��� N��M�:� .   �� .8��� .0�8�<5� .L�M$0$�3�� ��+(���= v��C� (��� N��M�:� D	��$<��$� �Y���<��

)��2� �����  33�X .-�$0�      �8� �<8?� (8� (8+�$B ���� �! .
	��$<��$� }$� .	[ ���1/� : D	��$<��$� �3 �+

�� .
�$
^ 33�X okT� (��� #9 j��<� ���X��!.   

�m� m"�� �  -�28K: �3 D8	��$<��$� : ����� �� .��� .0��<5� .L�M$0$�3�� ��+(���= .������ �$E	   ���X$8��= ��8+ 

N��M�:� ,���= : .X3��9 @$AB �3 .	��� ����/0� �<?+ N��M�:� -�2K: `�
	+ �3 .�$X   .L�M$80$�3�� �� ��

.� `/]� �! (���� :

• N��M�:� ��0:� �]5�� �� ���= �3 ,"�$��= D	��$<��$� ��$�� :  �8� .C��� .������ : ���3��    )�8�2� �$8E	�

33�X �O�� ���= �Y���<�� : 3��X `�J�� -%�� �� (�(� ���CB.".

•��N��M�:� ��0:� �]5�� �� ���= -f� .X3��9 �� #�	��Q� �� ,"�� i��A� �$E	�    ����(86� ���a8= �� ���X

3��X `�J�� �����+� b� �� N= (��� �! >��� .<4��5 ,������ �/��       >��8� .��8���� ���8� .����(86� : �8+

��$��= .X3$09 ��$X�+ ,33�X `�J�� �+�3 .������ : ��$��= 3�$� �����+�".

•  .<4��5 ����(6� : ���:�T! �R$A�� @$AB �3  ��P<� ����(6� ����� ���� .X3��9 �� #�	��Q� ����

�(�(	]� �� ,"������  �/8��     ��$<��$�  ��8� (8��� ����(86� : �8+ ��:3 D8	     }��/8� '�8B .X3$809 ���8� �� ,

��$�� (��� n9 : �a\ /�0��9 : ���3��". 

�m� mU����  .������  ���X$��=  `3��   �d� �3�����  ,����(6� (���  `�R  .[�! :  ��$�  �<[�X  ,)�	��+ j��<�  .������  �3 

7�<�3  `$�%  3��X ���6.

�m� m�.������  7�����  )����F<2�  �3�3 ��+  � 3$�$�`�J�  .��$��3 : 3��X  �!  ��%OQ�  �� �J	� (�(�  j��<�  v�63  ��

33�X ,.������  ��%OQ� ��  i�E	� (�(�  3$�.

�m� m�)��B9  ��%OQ�  >���  .������ 3�$� �3 �+ )�	��+ :  j��<�   D8	��$<��$�   #�8	!��!  , ̀ 3�8�   H�8�� :  ���(8f
�  

3$�.

�m� m�� �! .��
	+ �� : ����� >F	� G�<	! ��$� �3.� 3$Ff� �� :� �$��= H���   : 3��8[� ���X$��= �$C� : (���

)���= ����� .C��� .X3$09 ���<�9 �� ��    (8��� s8��	� .8]� �$C� �� �4�	<� `�(6� : �]B�(� ��+ , .8�   #�$8�

3�3 ����B �� N��M�:� D	��$<��$�.
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e:W     !*�.(<��
 	�*S���/ )�����] ��<^� 	��(

�m" m�R�� �d$� �3 #�/�� ����	^3$�$� ��  �� �<�! .C��� ���$��= >��	� .���� �� .����x .]��   (8��� ��$�8� ,

���^ ����(6� `�J�� �� �]B�(� -?�� ��a= ���$� ���.  

�m" m" �<?+ �d� �3 .X3$09 �� .��� ��R�� �3 �X� b� ��(P� �� R�� ��% ���� �� ��$��= ��+   (	� �3 �(� �!� i+3�m

"m�  (���)��$�� .]�� b�( ,<��$����$� .C��� D	��$ .� ��a= (���.

�m" m��<?+ �� .��a\ 3�$� �X� ���� �� ���$��= ��+ �� (�$� �3$09 .�R$Q ��%       8��6 �8?! .X3$809 #�/8�� �! ��$Q

�E5O� ���<�9 �� �� �<?+ �� y$��� `�(6� ��+   (8��� .��a8\ 3�$� �3 ��$��= ��+ ) ��8��  � ��8%OQ��   �8� �<8T

"HF��� ��(	<?� "� 33�X }$��(, ���$� .��a\ 3�$� D	��$<��$� -�� ��a=.

  

f:   ,�����*��
 T���� R���S  

Q:9(���3�  ���:�=  ��$� �3  `:/0  l4$� -��:

l0�(��OB  j��<�  D	��$<��$�   ����  ��8� b� .0��  6�(5 �� .]A[ ��$�  �8�    .�$��86 (85�:    (8���� ���/8X .

3$�: ��$��3 i<?��  .C��� D	��$<��$� ��+ �<�$�=)�� i<?��   .�9��(8T+ ��8+( ,   �8��:�= �(8���3

� l]L�����+ ��  �	����3 �� s��	� : .{<P� �:� �� ��%OQ� G�����$��6 (5�:. .� (���.Z

n(��$X�+  e��/[�   ��6  �3 ��$�.C��� �	��� �3  .X3$09 ��   �d� �3�����+�    ��$8��= 3�$8�    >��8	� �� .8���

3$B -�0$q?� -��  ��!� ����/0� v��C� '�(� �3 �(� �"     H�8�� �8� ��$8��= 3�$8� ���8��+� H��$K "

2����� ��  .�$��6 (5�:  `O%�  (����Z

z (  �(� 3�J�� �Q$��� .���]�% H���� �3 ����r� ����	^ �� oB�� 3�[ �3 .������  (8��� ,   .	����8� ��3(8J�

(���� .  

Q:> 7��� �� �(� )��2� 3:(5 �� e�� �����+� ��$X�+ (��� ���:�= #�X(���3  .�$��86 (85�: ��+���2� ,  ��2��8� ��

(	���� ���/X )����  �� �<T�� ��%OQ�"HF��� ��(	<?� "� 33�X }$��( .

Q:?��:3 ���/X D	��$<��$� j��<� �� , (8��� >F	� : .C��� D	��$<��$� j��<�  ��� (��� .    (8��� 3��$8� �8�+ �3

�� j��<� ��$X � �����+� 3:(5 �� -P��C� #�L�� �! 33�X ���/X ��       3$8�: .�$��86 (85�: H8�$� �(8� )�8�2

  (8��� .�$��86 (5�: H�$� �(� )��2� D	��$<��$� ������ *�(+� �� y�F��� �3 : (��� �<��3 .    �3 �8� (8��� �8+�3

�����+� �� y$��� �(� 3:(�� �(�3�X �?��P� �+, #9 ��?�� : �?��P� )�� j��<�     ���/8X .�$��86 (85�: �� �+

33�X.  
Q:A��:3 ���/X  ��� (��� �� .	2� �� .[�! l��$� : j��<� �� ���?�� #9 #3$� ��3  (��� �+)G(� �� }���� �� �+� 

j��<� -�2C6 `(% �� ��$� �� �� : s��	�( ,��� ��$AB� J��<�.    ��3�8	2� ���8��r� �8h�  ��8��+� �3�   �8� :

X3$09. � #�T� H���. (	+3.

�
�3 (��� ��%OQ�  ��� (��� ���/X )�	��+�   n9 H���8� (8	���   8Q �3 .��$8+ :.   �(8� ���/8X ��:3,  

M��� (�0$� #�/��� ���<�0�.  o0�B)���� ��X:��� �+� �<?+ �� ( �(� (�0$� -B$� #�/�� ��)���� �I�� ��8? 

-B$� (�0$� ((��� �E� 3�$� ��:3 �3.  

Q:D�3�3 �+� C��� D	��$<��$�. 0��  6�(5 �� >F	� :. �$��6 (5�: �� ��� ��. (���� �1��� . 8B��.   8��$%   �8
�3

���/X �1��� `�/0� sF� -�� )��� �+� �<T��� 33�X .�  ��$% )��.   -8�0�2[ }$�  ��� (	��$�) ��8��   G�8t�

-�0�2[ �� : >��	� �+� ���3� �$J� (  -8��h �8��r� -�]��6 :     ~�8� : #�8�� G$8Q �3 �8+  �8+�  ��8��+��  (8���. 

-�0�2[ �+� ���3�  (	��� ���:�=�I����? �<?+ -B$� �B�^ �� � (����<?+ ��3�P �+�  ��$8��=�    �8� �(8��+�

 H���#9 -P��C� : .�$��6 (5�: H�$� �(� )��2� ��J� 3:(5 �� �+ ���/X�3 �+� (���� (�6 3$B.  
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Q:H	2� e��/[� �� }$6: ��$� �3. $��= )�3��� �3 �F6�<���\ ��3� C���. X3$09 �� :.  .���/X �]��[O� (���

���$�  ���. �� ��P�P�� �� �(�9  �% ,�<� #3$8� 7�<�3 �3 ��$� �3 #9 ��0:� j� ,  �$8[ ����(86��   �3 �8h

����+� ���]�% �� y�F���� �<[�X ��$�, 	��+�) ����(6�. ����+� ���]�% ���3� �� �C��� �3 �h�   �(8	�9 �3

e�= ��3/� 	��. �. 3$� ,(���� �1��� .�$��6 (5�: ��.  

f:c�� +�X9 e��/[� �$E	�. �$�%. C��� ��%$K$� �� �C��� �3. ,�$��6(5�:. 
	+��+ �� (��� ���:�= #�X(���3 :. 

C��� D	��$<��$� ��%OQ� ��OB i+. [�h ����K$� �� ��.  #9 -��+� @$AB�3)����   �8� }���� �� G�t�

3��(��<�� j��<� -�2C6 `(% �� : �+ ((	+3 ���6 `$�% 7�<�3 �3.

  

9U:E���F
 V��G� ( ������  

9U:9���:�= �(���3 ,?� : G$q?� ok�       : �O�f8?� 3$8B .]r8� -8�0�2[ ��$85 �3 (8	�]L� -��(f� b�/�[ G$q

   �3 �� ��8�� 3�$8� '��(� : ��%OQ� : (	���� i+��[ .�$��6 (5�: .����� : ���E� G��%� ���� �� `�R ���L�+

(	+3 ���6 .�$��6 (5�: ���<B� .  

9U:> �3�� 7��� ����  .�$��6 ����/0� �� b� �+ #(T� �3�:9�� ��$� �3 #$��6     )8�� �3 �(8�3�� l��84: �8P� ��

G�r<�� ���:�= �3 z�(	� H���� �� : '�(� ,�(� .F<! ��CB� .�$��6 (5�:     ��$8� �3 : (8���� .8� �3�� ��3

���$� -��%� `(% �+ ,.� `�(6� ���:�= $r0 : .]�C2� �� : l6$� �� -F?�      s8?5 �8� : `:/80 ��$8� �3 : (����

.� }���� .�$��6 >���� �� }$K$� 3�$� X33�.  
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==:    -'��
 E�<���
  

1-�2�� ����� �3 -4��5 #$��6 , #���� .��� �M��� #�����)����.(

2-�2�� ����� �3 -4��5 #$��6 .����� ���� )�19 , #���� .��� �M��� #�����)����.(

3->��	� .	��� : ��?�$� ��+$��= ����� �3 -4��5 ���= ��+3��(��<�� , .]� 3��(��<������.

4-KH��� �� ��$��= 3�$� �����+� H��$ , /!���<?+ .	��� `�E� �$T! �� ,�2�� ����� �3 -4��5 �$��.

5- .��a\ 3�$� �3 .���$��= G�<	h  �20��$<�3 ,� /!���<?+ .	��� `�E �$T! �� , -4��5 �$���2�� ����� �3.

6- International Atomic Energy Agency, Environmental and Source Monitoring for 

Purposes of Radiation Protection IAEA Safety Standards Series No. RS-G-1.8, 

Vienna (2005). 

7- Regulation for Radiation Protection During operation of BNPP-1, INRA (2008). 

  

=W:    X����  

3��(� 3�$�.  
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